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Numerical Methods 8B 
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Therefore, at 2t =  months, 810P ≈  rabbits 

(rounded to the nearest 10 rabbits). 
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  Therefore, at 1.2x = , 0.862y ≈  (3 d.p.) 
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  Integrating factor is 
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  Therefore, the percentage error is 

 0.80% (2 s.f.)  
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Challenge 

 

 ( ) ( )0 0, 0,0x y =  

 0.5h =  

 
0

d 2
0 2

d 0 1

y

x

  = + = −  − 
 

 1 0

0

d

d

y
y y h

x

 = +  
 

 

 1 0 0.5 2y = + ×−  

 1 1y = −  

 ( ) ( )1 1, 0.5, 1x y = −  

 
1

d 2
1 5

d 0.5 1

y

x

  = − = −  − 
 

 2 0

1

d
2

d

y
y y h

x

 = +  
 

 

 2 0 2 0.5 5y = + × ×−  

 2 5y = −  

However, this estimate is not valid since 
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The curve has a vertical asymptote at  1x =  


